QUIZ 4 Spring 2008........... e e YOUR NAME:

1. True or false

- - . ’ . -
| Blue main sequence stars are more massive than red main sequence stars.

1 ':E’__White dwarfs are mainly supported against gravity by gas pressure. (e - C.{‘? e eve Cg_} 17‘/\9“3 v‘ﬂ?/)
5 I’:_Red giants are primarily burning Hydrogen in their core. {#fxge (Shetl DwnNuwy ) \

| | ilfon is the Iﬁost tightly bound element.

g ESolar mass stars spend most of their life as Red Giants.

d) . S Electron-degeneracy pressure is not important in the hydrostatic equilibrium of a protostar.

2. A white dwarf has about the same radius as:
, __The Sun
( “AThe Earth
_____A basketball
____There is no way to determine the size of any white dwarf.
There are blue galaxies and red galaxies. Explain why the galaxies that are blue are forming stars

3
L\U(’“—) and why the galaxies that are red are not forming stars (or at least a relatively lower number of
stars). Use an HR diagram to explain why this is true.
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4. True or false

£ o
' Y_Old stellar populations have a bluer main sequence turnoff than younger stellar populations

[A

EHigh mass stars mainly create light elements and low mass stars create heavy elements.

"7 'f/\‘f_The lagrange point in a binary system is the pomt between two stars that feels equal force from the two, stars.
):_Stars on the main sequence burning Hydrogen are brighter than the red giants that they become. 3

) i_Neutrmos are the dominant particle in the solar wind T

b /Y _\ Neutrinos are created in by nuclear reactions in the core of the sun.

J’ __KStars w1th mass between 0.08M. and 1.4M. are called brown dwarfs. (Z- ¢.0gMe ave )

@ iThe sun is brighter today than when it formed 4. 5 billion years ago.

5. Describe the life of a 1 solar mass star. Include an HR diagram to support your discussion.

'\\Q W SEE ATTARTED Leureww AMoTES



@7(’05 | i T : %@f—%

@@m‘\vsfﬁ’[la«f (0”3]9:[{’ D rc\lepee of grant gy Aovel T fonm

— QMo D Vever t Wk eroging o
sty o & Mook 200070 Swv@fgﬁ\?— %ﬁ,ﬂzﬁﬁﬁ

() Meun .u\em -l o e a cWewny - Uiy - \\\fq*(@v\%@v)
f%@ co B v (At 2 (rgteines)

s Raglus & Lywmmeshy wnevéise Sk Wy on .G

G

¥



| @ fed  Grant @W Do o e Lusion ST 1V Cove,
Qe o

O @-wg«\éﬁ
“Lvranesit ¢

]
H

B) telwn~ TSh: Pe cove B sy teel oy eleelew
CW @NSS\)‘C@ (e wa;!-we 6@0@’/”&0%&.«)
- uMen {WQ’ *f{g@\ﬂ@ﬁ&eg sk T Lo Te® C

no ot 6%?@%51%”@5 M oy (g, 2

i Hlelmn TUEen M

@*‘Mf
= He ©C W e




/5 Aow ptotie Gw A~
O | ) 67 ot Kooty N H{—-‘D C Rstor~ SHDK;V\
Core- ,Q\/@H (O\/W’lil/hj

e

@ Bne Sﬁ%: Q/W Coof(@ Ukﬂf\_,_i"' D___,,/‘ﬁ"f 5P P%écf |
| pp St OV oy e~ deerrteg
e ARS8 oo LdMe (Chevdlrasghen
[/{VV\H’)
'5”573; M\\’MCH’ e @ C(QWM
COMNOY Qv@)\p&ﬁf‘ ega-wg + @M{B

bUO 5 x@” 4/\/@5(4\/& d«p@/ﬂ/\



() | G e | Dﬂé%’/m'cg behresm La/d/@géf,\ Mz

4 Puolonz
- /'//“\_//\—‘//F\“ '
(D) Masswe S cen s sl T by o
| |52 CW) |
= Tyvon n el Jele ﬁmﬂ/w{“ = \/‘@@(/ﬂ/“@f
ey T fse ymove RS Slermens

() B s 0 Evel i dastes Trian

o) Vet -+ o
S ok us Lot D Yo Men sequirnce




